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What iz meant by "“prefes™?

Define least count of vernier calliper.
Define physical guantites,

Defing vibratory motian.

Define unifarm accelaration,

Defina force also wrile fe Ln<.

State Mewton's thard law af mofion

Write down two acvantages of friction.
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6 = (a) Derived first equation of motion with graph: & ol e 24 Q. S e rﬁ S (L) - b
vi=vi+at vi=vi+at
(b) A stone of mass 100 g is attached to a string 1 m long. Q.&&.Nlh:_\r.»mh ALIZ L ﬂ_\_‘._ 00 ()
The stone is rotating in a circle with a speed of 5 mS™. ......ﬁrw 5 mS™ c“...‘ ¥ A - r.ﬂF_,.r el

Find the tension in the string. L TR e\ ST S e
6 - (a) What is solar energy? How can solar energy be converted 2 F LT84 " ISP fe Vg () - g
into useful form? Explain it. ol W SUx
(b) A nut has been tightened by a force of 200 N using v §200N L S U 110 om & (i)
10 cm long spanner. What length of spanner is kod = s c\ 150Nt .« {s %] _\\ =
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7 - (a) What is meant by "evaporation". Explain its any ML LS5 s SR () - 7 |
three factors. _E 2ol 1
(b) The head of a pin is a square of side 10 mm. 10 mm Mfrm._rmw.m.. W uﬂw\m___..«.ﬁ.. £ ()
Find the pressure on it due to a force of 20 N. A inige g3 S20 N ;Ui e
N
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Section -1 Jil

2 - Write short answers to any FIVE (5) questions,  (2x5=10) e AL oo (5) ég dr- 2
1= Define physics Write down the names of #s two branchas., et Lt RN I

ii - Define scientific notation, L ...t',.-?’d'._-, B L
iii- Define physical quantities and give two examples. S P i 2 L
tv - Define velocity and write its aquation, Sy O N Ny Y TR

v- Diflerentiate between rotatory motion and vibratory mofion ..I{_'f.' ek 34 L8 o Al gl .;,r*.—'.,u‘_.-‘-:‘,.. .
vi- State Newton's first law of motion. _i'_".': e @R U l’._-,:i-‘ ol -
vii- Differentiate between rolling and sliding friction L= £ ) o PP L e ¥ P

viti»  Define force and writa g 81 unit gt 4 Aot i
3 - Write short answers to any FIVE (5) questions.  (2x6=10) &,/ etz ¥ L ot )6} 43
1= Define the axis of rotation. = Ay .,-ff;,-._.in'y;' -i
ii- Define contre of gravity. Where is the centre of grawity Wl iy L0 gl ..g-,r']!&;f..ﬁ;-‘r -1
2! a undorm triangular sheet? T tor L,-a"-.ig:.f"—'r'z'-:' KoL
is- What are articial satellites? N Vol | (T

- Slate law of gravitation. ..ig{ @ AT Ii’g."'-’;fff iy

v« Define flald force, ..:—:_": _yﬁ;,f.,r;}.:l_-' <
vi-  Define power. Write #s 51 unit. ey L BLE LN -Eir"-ﬂf]dfﬂ'; =uj
vii- Define geothemal onergy and elastic petential enaergy A RA l.F"’i: LTI 10 %

vin - Define “joule®, the unit of energy .iqf A4 W i O kA i
4 - Write short answers to any FIVE (5) questions.  (2x5=10) .25, F etz FL ey (5) ﬂ ds- 4
i Wirita two features of kinatic molecular modsl, E oler®n S IR B S L

- Slate Pascal's law -Eﬁ- elle ¥ F-.,.-""i - i
iii - Defing siress and wrile Its unit oyt WAy
v - Whal iz meant by “Internal energy of & body*? T e b e “EA e I..fr"-.f-'" E L

v« Define istent heat of fusion & S ar P suf oy
vi- Differantiate batwean conductor and insulator. A8 A8 M M Ly
vii-  Define rute of flow of heat and write its farmula AR AT ALY il &l i
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b - (a) Differentiate between distance and displacement. e Eh 3} Wen £ wsS sl dol (I - B
Also explain it. 4N.m. c... =Ly rmu_

(b) A body has weight 20 N. How much force is required to cm\_\n_ L2mSH . 20 Nusk ol (&)

i i i . -2 : . 3 ' .
move it vertically upward with an acceleration of 2 mS™, ....rt\..%tom&..\mwbpn_wa_l f._\vrwmt b e
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6 - (a) What is the difference between wind energy e O/ VA GASAz o Go ks (L) - g
and geothermal energy? |
(b) A man is pulling a trolley on a horizontal road with a mcu %_.mﬂ(mv %ﬂh = s 200 N Q.%r..n.\_ ()
force of 200 N making an angle of 30 with the road. Lud S e s 8T8 L Qg ¥
Find the horizontal and vertical components of the force. ;ﬁ ?r\. cﬂﬁoﬁw Sasf sl __.w i
7 - (a) What is thermometer? Explain liquid-in-glass thermometer. rﬁ F1 1\... s mr AV 1 e VR i\w () =7
..m”...ﬁh..vﬁh
(b) The heat of a pin is a square of side 10 mm. 10 mm MTLM_ cn.u..mf i &\_\mﬁ Kol oy ()
Find the pressure on it due to a force of 20 N. Uls &5 lpe & QE.“ rﬁmm N iy N:.\ﬁ V-4
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